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QUESTION 1

In a 4-node cluster, what is function of the HA interconnect? (Choose the best answer.) 

A. It provides the ability to relocate the aggregate ownership. 

B. It provides the ability to synchronize the cluster configuration. 

C. It provides nondisruptive operations and fault tolerance. 

D. It provides the ability to migrate a data aggregate to any node in the cluster. 

Correct Answer: A 

 

QUESTION 2

Which statement regarding a node-management LIF is true? 

A. The LIF can be set only on the built-in node-management port - e0M. 

B. The LIF must use two switches for redundancy purposes. 

C. The LIF can be set up on a dedicated VLAN in the data network. 

D. The LIF can be set up on a dedicated VLAN in the cluster network. 

Correct Answer: A 

Reference: https://library.netapp.com/ecmdocs/ECMP11694143/html/GUID-
EFBAB832-8ABA-44D0-86A3273CB52872B7.html 

 

QUESTION 3

You are asked to install a new ONTAP cluster at a customer site. 

In this scenario, which ONTAP versions would you normally install? (Choose two.) 

A. the latest RC1 with the included patch level 

B. the latest GA with the included patch level 

C. the release specified by the customer 

D. the latest D release listed for the controller type 

Correct Answer: BC 

 

QUESTION 4
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A customer wants to reduce the disk allocation requirement for the root aggregate and increase usable storage by
partitioning the disks into one large part and one small part. The small part is used for the root aggregate and the large
part for the data aggregates. 

In this situation, what is this feature called? 

A. ONTAP 

B. storage virtual machine 

C. Advanced Drive Partitioning 

D. RAID 

Correct Answer: C 

 

QUESTION 5

A customer buys a new switchless ONTAP 9.5 FAS2650 cluster. You are asked to install the system at the customer\\'s
site. 

Which three steps are needed to accomplish this task? (Choose three.) 

A. Cable the ACP. 

B. Cable the cluster-interconnect to the CN1610 switches. 

C. Connect both power cords. 

D. Install the system in the rack. 

E. Cable the controller for switchless ONTAP software. 

Correct Answer: CDE 
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